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[ A9 T P 3R 60T TI9eT @ o
“oqre, R=+P°"=>R=P

a a) 1 o
— 2P CDE(Z] =P :}cns(zj =3 Sa= 120

R STiHter:| @<,
P=Qux %/ R=4PP =P .. P=Q=R
.. R*=P*+ P*+ 2PP cosa = P* = 2P* + 2P%cosc

— 2P? cnsn:—PE::»cnsct:—E Sooa=120°

P=Q=RT#FTa=120°

|A5pen:t Tricks:

120
qae 0 = = 60°

07.

08.

09.

10.

11.

I *ITS ax” + bx + ¢ 7T w36 il zraz
A. dac =b® B. 4ac > b?
C. 4ac < b* D.ac=b

S WhY| azfs i spfasf zeam 1< frors *F7 73
- b’ —4ac =031 b’ =4dac
rcos 0 + cosd — r = 0 AT QT A>T TR G o=

A. 8 B. 7138
C. 5438 D. *[gd
S [@J“’h}’ rcos’@+cos®—r=0

3 7
f X X X X +x
=r. 34+ —r1r=0=>—4+—"=r—
I r r r r

=T
::;f+x=1-3:>f+;.;=f+y3
:f:x:>f=4.i.x [ @376 *RIFres ]
Sy* — 2x = ) AAYCST THATH (FIHAG?

a(03) 5(0:5)
c (&9

S[®]why

ﬂ:ll—u - OTIHT IS (X, y) = (a, D):(%,D]
f(x) = x* — 3x” + 5 T {(x) 99 5ifa® 7 FEo?
A 6 B. 12
C.5 D. 0
SI@IWhY| f(x) = x> —3x* +5; f(x) =3x" — 6x; f"(x) = 6x— 6
AL A A= T &0 £(x) = 0

3x"—6x=0

3x(x—2)=0

x=40,?2
Xx=0TEFX)=6x0-6=—6<0
Lo x=04a97 T f(x)=x3—3f+51ﬂﬁﬂﬁﬁﬂ'ﬁ'*ﬂ’ﬁmml
- s IF f(0) =5
y* = dx TR (2, 2v2) Fqre ~feea vt ot

A = B 2=
.2 .\jﬁ
]
C-z\ﬁ D. 2V2
_ dy dy 2
S[(B3]wny yz_dx::r-Zydx_d::-dx_y
_[gz] 2 1
JE CEN A RENeRRY
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12,

13.

14.

15.

16. y=1(x) =

Exclusive Question Bank For AGRI Exam

sin’ (E-A] L 5in1(§+A) G i FI0?

A0 B.1

.2 (T . a7
sin (4—A)+5m (4+A]

2
a2 [T T (T
= sin (4 A)+{cns (2 (4+AD}
a2 (T 2 (K L) _
= SIn (4 A)+cns (4 Aj_

DP4=GHP3'{WII*£I-{WW?
A.9 B. 10
E@@ nPa:l:ﬁ?‘fnPj
Il =6x |£ = I = 6
Iﬂ 3 (n—4)! (n—3)(n—4)!
—>n—3=6
RPw SY: @4, Py=6 x P;
—nm-1)M-2)(n—-3)=6xnn— 1)(n—2)
—=>n—3=6...n=9

10 IERF? Tgered Iria T Fab?

A. 45 B. 90

C. 25 D. 35

S[®]why| n 318 {2 Tgsem e =M ="C, —n

10
ma'l?aﬁﬁfmwmmﬂnz'”cg—m:r’?—mzzs

GFfb ATFIET WTGRF A 3 % Swold 5iF e 2T e
(I ([ FTAT |
A. 30°
C. 60°

S [(B)] WhY

C.-1

S[(3)]whY

C.8

—
n—

S.n=9

B. 45°
D. 80°
TSI AT AEID CHoR b1 &<t
u’sin2at u’sin’o
=4 x
g 2g
— 2sinct cosa = 2sin‘ot = tanat = 1; o = 45°

4H 4H
g T=iKE: <= S, tana = R = tana =70 [ R =4H]

S R=4H —

Cooe=45°
4x — 7
2x -4

T f(y) 9T T @07

B.2x+5
D. —x

A2y
C.x
dx —7

@®]wnY

y=1x)=5"4
16x — 28 — 14x + 28
2x—4 2x

— 7 (
4}; 2}{ ]
— — _x

f(y)=2y_4=2(4x_7] 4‘ 8x—14—-8x+16 ~ 2
2x —4) 2x—4

AGRI-EXAM
2+ 3i

17. A 5T = A +iB YR A 8 B I YT A O B 97 T F7
3 4
A. 3 B. 2
Li 8
C.3 D.
2 431
O]wWhy 2_:::1=A+iB

18.

19.

(243D (2+1) 4 + 6i + 2i + 3i°

' 2—1) 2 +1) =A+1B = Zz_iz =A-+1B
44+ 8i—3 . 1 8. o . S
=411 =A+1B :>5+51_A+LB..B_5
s{x € R:-1<x <3} G s YT THOT SHPIAT FIADG?
A.0 B.3

C.5 D.-5

S[BIWhY] s={xeR:—1<x<3)

(TG s T THEHANT 3 M 3 OF 9T (T (I AT |

. ST SR 3

G T G 1w @Wio?
n

A. 5 B.n

C.2n D,%T
{D]WhY/| tanb ¥32 cotd 97 AT T ==

sin0, cosO, sech, cosecO W T 2T = 2=

20. ‘lﬁxz+}'1+2gx+2fy+t=ﬂﬁﬁywwﬂ'fmw-

01.

02.

B. ff=c
D.g°+f=c

A. gzzc
C.g8—f=c

S[B]why

X+y +2gx+2fy+c=0
@6 X T =M T c =g
@0 Y W M e =
G TR WP P P e =g = .

Choose the correct preposition for the gaps in the sentence

“The boy is devoted — study but devoid — common sense?

A. to, 1n B. in, from
C. to, of D. from, of
S[@]WhY| Appropriate preposition -9 devoted €3 %t “to” €I

devoid 99 7T ‘of” preposition ICT |

The plural form of ‘Data’ is—.
A. datas B. datum

C. all data D. None

E@a@ 5<f1e none of these | Expl: ‘Data &3 Plural form
.99 Singular form AT Datum | 947 (ARY Data 99 plural form
BIGAT TLAZ ©12 Answer T None of these.
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03.

04.

05.

06.

Select the negative interrogative form of “The man read a book™.

A. Did the man not read a book?
B. Does the man not read a book?
C. Did not the man read a book?

D. Does not the man read a book?

S[®)]WhY| @i Did not the man read a book?

Affirmative sentence 99 Negative Interrogative S99 &0 Tense
‘ﬂﬂ:ﬂﬁ' sub+main verb +3T WX TF | SR Affirmative sentence
f6 Past indefinite tense 294F FRTT SR did not 7 ¥F 2T | ©iR
&7 Did not the man read a book? T ©&F |

Select the passive form of “It is not feasible to catch a rat”?

A. A rat is not feasible to be caught
B. A rat is not caught feasible by it
C. A rat is being caught by it feasible
D. None of these

S [N why
™ (@M active voice TF passive voice F909 T YT Object TP

54 A rat is not feasible to be caught.

subject TITS T, tense WIAMT Auxiliary verb €32 @3 7@ Main
verb @3 Past participle I7C® TF | S Answer A T9 432 object
T subject @ 4T ICAR 1&ATHEIS Auxiliary verb U9 Main verb
AT AR | B2 TG i |

Select the direct form of “Mother told me that I might go

with her.”

A. Mother said to me, “You may come with me.”
B. Mother said to me, “You may go with me.”

C. Mother told me. “You may go with me.”

D. None of these.

S [@] WhY

Direct narration 9¥ Told T3TF Indirect 9 said T | Reported

SR ‘Mother said to me, “You may come with me”

speech 99 Subject person (you) AT Indirect @ 1 T
Auxiliary verb may T3t might T | 99940< ** come TITF Go
{9, object me TATF her A |

Select the indirect form of ‘Teacher said to me “Why were

you not reading?””’

A. Teacher told me why I was not reading.
B. Teacher asked me why I was not reading.
C. Teacher asked me why we were not reading.

D. Teacher said to me why I was not reading.

(D] WhY| &<fi: Teacher asked me why I was not reading .
YT Direct Narration ¥ Reported speech-94 Why UE TR

Indirect Narration <9 Reporting verb Asked 2« | Option BS C T

07.

08.

09.

10.

Asked W2 | SR Direct Narration ¥ Reporting speech @9 object me
A Reported speech @ You <R Indirect Narration @ First person
‘I’Z@ W% Auxiliary berb was Z(J;%12 Answere B 2 T34 T |
Choose the accurate translation of “Si= Jit =T P 12" |
A. 1 am not on good terms with him

B. I am not any good term with him

C. I haven’t any good relation with him

D. I am not having good terms in relation with him

®)why

<R 1 haven’t any good relation with him.
@ % AT I 7 AT RIARF &0 have/ has TIZF T AT |
SF Sentence & Present indefinite tense |13 ©&AG 241 |

Choose the correct active voice of “The results were reported
by the research assistants.”

A. The results reported to the research assistants
B. The research assitants were reported the results
C. The research assisants report the results

D. The research assistants reported the results

)| WhY

5= The reserch assistants reported the results .
G4T Passive T active -9 FACS T 9I*02 subject T& object
@32 object T& subject I Tense AR Auxiliary WMo z@ |
(ARY passive voice @ Were Reported WIT& 12 active reported
ZE | 9IPT option T GF0 TS AR ST D .

Choose the correct sentence.

A. How long do you wear glasses?

B. How long are you wear glasses?

C. How long have you been wearing glasses?
D. How long have you been wearing glass?

S[@®]why

«ft present perfect continuous tense @9 Interrogative sentence,

glass “IF{ RIA0 TOrSFIET F T Q3T #I4F 570 AT present

5= How long have you been wearing glasses?

perfect continuous tense 2 23 |

Choose the right option for the gap of “two-third of the work
— finished.”

A. have been B. has been C. are D. were

< has been | Two- thirds T TitE= T

R | @ G0 IICET SN R S Singular Form AT | Si
verb 8 singular T | YA option ST IHT GG singular

) Why

verb ZCET has been | 12 ANSWER ‘B’
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